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0SMOLC pressure

magnelic resonance

surface tension

self-diffusion

solubilization

equivalent
conductivety

CMC

Concentration

022cMCO00O0OOOOOOOOOOOOO

0 2.1 C,E; 0000 CMC (25°C)

CMC/u M CMC/u M
C4E; | 9.80x10° C12E; 5.20x10
C4Eg | 7.76x10° C12E4 6.40x10
CeEs | 1.00x10° C12E5 6.40x10
CsEg | 6.85x10% Ci2Eg 8.71x10
CsE; | 4.90x103 C12E; 8.20x 10
CsEs | 7.50x103 C12Eg 1.00x102
CsE, | 8.5x10° C12Eg 1.00x102
CgEs | 9.2x103 Ci12E12 | 1.40x10?
CsEg | 9.91x103 C13Es 2.70x10
CgEy | 1.30x10* C14Es 1.00x10
CioE3 | 6.00x10? C14Es 8.99
CioE4 | 6.81x10? Ci5Es 3.50
CioEs | 9.0x10? Ci6Es 1.66
C1oE¢ | 8.99x102 Ci6E7 1.70
CioEs | 1.00x10° CisEg 2.10
Ci0Eg | 1.30x103 Ci6E12 | 2.30
C11Eg | 3.00x10? Ci6E21 | 3.9
C12E; | 3.30x10
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—4— C,(OCH,CH,) OH
—%—C,COONa"

—#— C,N'(CH,),CH,CO0

—#®—C 050, Na*

—®—C,N(CH,),*Br in 0.5 M NaBr

CMC (mole fraction units)
T

10°¢ 1 1
5 10 15 20

No. of carbon atoms in the alkyl chain, n
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cubie

lamellar
liquid crystal

029H, 00V, 000 L, 00000

2 A 0DO0OO0OO0OODOODODOO
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00 AD000OO0OO0OO0BOOOOOOOOOODOOO AOOOOO
00 r,0000000BOOOOOO MOODOODOOODOOOOOOO r0O

gooooooo
r=-—g (2.A.1)
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000000000000 00000AO0OOOORnaO0O0ODOCODO A

00000000 na O
NA = TANA (2.A.2)
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O0BOODOOOOO ngO

ng = /wB(r)dr (2.A.3)
ooooood
Wa(r) = 22) (2.A.4)
nB
goog
/WB(T)dT =1 (2.A.5)

O000OWs(r)DOOODODOOOUOOOOOUOODOOOOOO RO
n=mna+ng (2.A.6)

OO0000oOooooDoDoDoOOOCOOOO0O00O0O0O00Og vadypsO

Ya=—2, Yp=-—2 (2.A.7)
i i
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Ya+yp=1 (2.A.8)
goooooo
wy(r ng wy(r
o) _ 1p ws(0) _ gy ) (2.A.9)
n n 7B
oood

0000000000000 000000002000 7000 pO
ia0wg(r) 0000000000 2(T,P,7ia;ws) 000020000 62
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OO00O0O000-0000Mma0 w0 1000000000000

6z = (2.A.10)

8z = Zabna + / Zg(r)swsg(r)dr (2.A.11)
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goooo z0o
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AR D00
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0000000000 VO0O0000000 @AIOO
SV = Vaoiia + / Vi (r)5wp (r)dr (2.A.15)

0000000 ADO0000000000000 VX(T,p)D00000
0D-00000BOODO0OOOODOOOO VE(T,p,r)0000VO

V =naAVi + /’LUB(T) Vs (r)dr (2.A.16)
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oV= 5

t=0

— Viona+ / Vit (r)Swn (r)dr (2.A.17)
00000000000 @AIDH0D @EAID)OooD
Va=V3,  Va(r)=Vi(r) (2.A.18)
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Flory-Huggins 00 00000000 ADDOD BOOOD 0000
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1 1 1
ﬂEiJFRT( lani+>
TBi rBi ()
+RTIn fg; (2.A.20)
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00Flory-Huggins 000000 yO0OOODOOODO0OO0OODOOOOCOO
Yp; =np;/n0000(), 000000000000000000000
0000O0000i0 000000

Ypi = YsWr(r)rm (2.A.21)

oooodoodr»,0000BOOOOOOOOOOOOOOOOOO
@A20 0000000
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= HUB,o\T , nypWel(r e
+RTIn fg(r) (2.A.22)
oooooooo
ok . RT
i5,0(r) = pp(r) + e Inry, (2.A.23)
o0ooooooooooog (), O

L _Ya, U (2.A.24)
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good

1 - WB(T> r
<TB>_/ —d (2.A.25)

000000000 00000000000000000000000
00 faO fe(r)0 xODODODOD

-1
In fa = —x¥3 (2.A.26)
TA

In fg(r) = ! (1—1p)? (2.A.27)
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DD00O000Oo

0 RAIOOERA22) 000000 RAIN0OOO0DOO0O0O0ODO Gibbs

0ooooooao Ga

G =vams+ [ vWa(r)ma(r)dr
=afix + / YW ()i o(r)dr
-Hn{f:m¢A+/”“M?“0m¢ngwm4
4ﬂﬂmmﬁ+/mmymmﬁmm] (2.A.28)
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Oo0OobOoDOobDOoboOoDOooo I oo0obO 2000000Ra O

pp000000 @AID0 EA22)00000 @AY 00Dooono
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1 — i = (1 —1pk)exprapa (2.A.31)

YW (r) = Y W(r)exprps(r) (2.A.32)
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—— Temperoture/K

L

.2 R . 5
——> Volume fraction

0210000000000000.00: 0000 (cloud point curve)0d OO :
0000 (shadow curve)JO0: 0000 (coexistence curve) D00 00: OO
00 (spinodal curve)J00000000: 00O (critical point)

goooooogo
1 1
PAZ I~ L
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pa(r) = ﬁ - 0‘% —In f(r) + In f5(r) (2.A.34)
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—In fil 4+ 1n f} (2.A.33)
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nk = nh +al} (2.A.36)
wi(r) = wh(r) + wy (r) (2.A.37)

0 @A3N) 000000
N = ng + g (2.A.38)

=n' " (2.A.39)

000000 nNooDooOooDoooOooooD ¢0O

=11
= :LTF (2.A.40)
00000000 @A36)0 A3 00
Ui = (1 - )i + vl (2.A.41)
UEWE (r) = (1= )i (r) + ¢ W (r) (2.A.42)
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Vg = (1 — @)U + ooy (2.A.43)
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Apeg + Ay = A, (2.A.53)

By,y/ + By/ = By (2A54)
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Ka=—— #3Walhale) (2.A.55)
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Flory-Huggins OO O00OOvya0vs O

Inya(q) = % ln<<rq> >+1 <rq> Fq(l—vp)?x  (2.A.57)

Inyg(y) = ARA;B = ln<ég:>i> +1-— zg]i + yrpYdx (2.A.58)
0000000D0O00O0¢(r),00000000000000000 (A5
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O000000000 WaOWs 0023, 0250000000000 9aC
Yyp 0000000

_ Walq) 1
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Kg = Wa(y) 1 (2.A.60)
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ooooooooono
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ooooooo

K'X(r—r)X(r'") = X(r) (2.A.62)
0000000000000 -0000+¢+100 cc00000000
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googoogno -
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00o00o00X(-+1)00000000A/ 000000

dX(r) 1d2X(r) 1d"X(r)
X 1+ K~ — e ———— = 2.A.
(r)+ dr (1+ )+2! dr? n!  drm 0 (2.A.66)
gboooboobooboobobooboon
X (r) = cexp(Ar) (2.A.67)
00000000000000 @A) 000000
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gboooboooogon
AK* + expA = 0 (2.A.69)
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00000000MOXMNO0O @A) 0000000
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o= Aexp(—Ag) (0.57721567 +Indg+ ) mﬁ‘) (2.A.76)
n i=1

gddboooooboouoboooo

(@pw=1— (2.A.77)

(Ww=1- (2.A.78)
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